Practice Test - Partial Answer Key

October 17, 2011

Use exponents fo write each radical expression:
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7. Write the equation without a denominator and simplify. All variables represent
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[show all work]
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10. Find the value of (Y +2) +(x+1) 2

when x =7. [Remember show all work]
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For #11-17, Checks are optional unlfess stated othemwise, but are strongly encouraged

(4 points each, 6 points each for #5 with checks required)
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13. Solve for x and Check: 2x* +1=55
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15. Solve forx: 49*=7**1 CthC
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16. Solve forx: 4% = 16 )*S ?
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17. Solve for x and Check: 274 —9 Cxr3= 8x .a_m.t |
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#18-21.Clearly Indicate answers. [ 2 points sach)
18. The equation that defines the same function as Y= ‘\: J is:
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[Show work leading to the following multiple choice answers]
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19. The exprassion —— is equivalent to:
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20 The product of 2% 8% is not equal to-

Plug into
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21, Write an equivalent expression using positive exponents:
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